(K-415EA-K-420EA]

K-415EA-75-R

K-415A-75-R

(K-415A-K-420A]

FHAE

HLIAL 2178 FHAE]
@THUMBSCREW SWIVEL CASTERS

LIAME 2] FHAE
SCREW SWIVEL CASTERS

° K-415EA-K-415A= 25H=Z XP-E-% Inksi=hRiey
o K-420A%t K-415A= Z&fohM Arget 4 'ﬁ'—lﬁf.
o 0] U x}=O| AIE! 2 XIHS MEHEE A Q)

© K-415EA and K-415A use stopper to positively lock the wheel.
© K-420A and K-415A can be used together.
® Select wheel material and diameter according to your application.
o &
S/ A7 U ZE(SPCC)
X12/T5(R)-LIIZ(N)-SEHUR)
o #H OpF2|:
23/25 =Z(MFC)
=, K-420A =g ¢32= of:A
ol %2I(MFZn-C)
eHaz Sl{E
.EHOJ.S 40| 7|7« &tALH . OHA
0 HEZE. . T |= 2OJ5H FTAAR
o XF AF ¢3201= ASHIE 2 '*EIXI SLch
© HZ HE2 AIF 17 ¢325 Meti= AR FAE L% feLIC,
® K-415A-K-420A= M1 Z(J-L|X| 1.25).
W3/8 EflE USLICH 32 Hel).
® SAE= UNF(Unified fine thread)2t S xI&=LIC,

© Material: Main body: Cold rolled steel plate (SPCC).
Wheel: Rubber (R), nylon (N), or urethane (UR)
SYelleli= @ Finish: Main body: Chrome plating (MFCr). However,
cations K-420A with wheel diameter of $32: Zinc

NS
=2 32

M, plating chromate treatment (MFZn-C)
T . ® Accessories: Hex nut
T ® Large or middle-sized equipment, benches and wagons
SEMES @ No stopper is available for wheel diameter of ¢32.
/J ® Mass shows the unit with stopper except for
‘ wheel diameter of ¢32.
T T ® M12 (pitch of 1.25) and W3/8 are available
- S - S for K-415A and K-420A (except for $32).
8] i o0 ey ® SAE has same dimensions as UNF (unified fine thread).
L L E Qo] Wi 12 XtES LIEFLICH
W on the table indicates rubber-used wheel.
g | SIBBEEN HZZ2(g) D2 AT | LIYE XT [ PE RIE
Wi j’;l Allowable load Mass Rubber-used wheel | Nylor-used wheel | Urethane-used wheel
Remarks | #0 | H1 |H2 M R | qi [RAZ[NZE[URRE| RAE [N#E[RRE| == ==
des | Rused | N-used | UR-used | R-used |N-used | UR-used Cod Cod Code
wheel | wheel | wheel | wheel | wheel | wheel ekelz ekelz
[ J 50 | 68 (35 M12X1.75| 65 | 58 |294|392|392| 250|200|210( 30188 30194 30771
[ J 65 | 85 |35 M12X1.75| 66 | 62 | 294|392 300|250 30189 30195
[ J é%vﬁjtl_?_ﬂ 75 | 95 |35 M12X1.75| 74 | 68 |392|490 350|300 30190 30196
i
® | stopper |100]126]40 M16X2.0 | 88 | 83 |490|588|588| 750(550|600| 30191 30197 | 30210
[ J 125|152(40 M16X2.0 | 99 | 103|588|686|686| 900(650|700| 30192 | 30198 | 30211
[ J 150|179 |40 M16X2.0 |102| 118|588 1,200 30193
[ J 50 | 68 |35 M12X1.75 47 1294/392|392| 250|200|210| 30290 30296 30773
[ J As 65 | 85 |35 M12X1.75 58 [294|392 300|250 30291 30297
AST
o qle 75 | 95 |35 M12X1.75 68 (392490 350|300 30292 30298
[ J gg;'ggrt 100|126 |40 M16X2.0 83 [490|588|588| 750|550|600| 30293 30299 30312
[ J 125|152 |40 M16X2.0 103588 |686|686| 900|650|700| 30294 30300 30313
[ 15017940 M16X2.0 118|588 1,200 30295
@®: ROHS10 thEE A: RoHS100] thS 7+s#iLict,
RoHS uz | S18 313 N HEZ(g)| 2T = LIQE XIZ
0 Hlm M arzs | Allowableload | Mass ~ | Rubber-used wheel | Nylon-used wheel
7% N8| Remarks | 0 = (UNP) R |soig| RXIE [N5iE RS \NRE| 5 =
Reused | N-used radius| R-used |N-used | R-used | N-used et ooz
wheel | wheel wheel | wheel | wheel | wheel el
[ AN J 40 17| SAE/2X20 LtAFAH | 58 | 51| 196 (294|130 | 120 30152 30156
® | ® | .=qest|50 20| SAE'/4X20 LIAM | 65| 58 | 294 (392|210 | 180 30153 30157
® | @ | Withstopper [g5 21| SAEV5X20 LA | 66 | 62| 294 392|270 [200| 30154 30158
[ AN J 75 21| SAEV2X20 LIAM | 74| 68 | 392 490|310 | 230 30155 30159
[ AN J 32 14| SAE3 /%X 24 LtARAH 291117.6/196| 60| 50 30251 30256
[ AN J AT glS 40 17| SAE/5X20 LtARAH 41| 196 [294|130|120 30252 30257
® | ® | Without |50 20| SAE"/2X20 LtAtA 47| 294 |392/210|180| 30253 30258
@ | @ SOPPer g5 21| SAEVAx20 LiARt || 58| 294 [392]270]200| 30254 30259
[ AN J 75 21| SAE/2X20 LIAtAH 68| 392 1490|310 230 30255 30260
SZ A:RoHS100i thE 7HsEILICH

24371

328

FHAE

2 e

s
FHAES

OfRAE 22
AR



